
M12.2 (mod 5)

blocks defect matrix

G : 1 1 5× 4
2 1 5× 4
3 1 4× 2
4 0 451 = χ6,0, ϕ6,0

5 0 452 = χ6,1, ϕ6,1

6 0 551 = χ8,0, ϕ7,0

7 0 552 = χ8,1, ϕ7,1

8 0 1101 = χ9+, ϕ8+

9 0 1201 = χ13,0, ϕ13,0

10 0 1202 = χ13,1, ϕ13,1

blocks defect matrix

2.G : 11 0 101 = χ16,0, ϕ14,0

12 0 102 = χ16,1, ϕ14,1

13 = 11 0 103 = χ17,0, ϕ15,0

14 = 12 0 104 = χ17,1, ϕ15,1

15 1 5× 4
16 0 2201 = χ22+, ϕ18+

17 0 1203 = χ24,0, ϕ20,0

18 0 1204 = χ24,1, ϕ20,1

19 0 3201 = χ25+, ϕ21+

Block 1: ϕ1,0 ϕ10,0 ϕ11,0 ϕ12,1

11 = χ1,0 1 . . .
661 = χ11,0 . 1 . .
992 = χ12,1 1 . . 1
1441 = χ14,0 . 1 1 .
1762 = χ15,1 . . 1 1

ϕ1,0 = 11
ϕ10,0 = 661
ϕ11,0 = 781
ϕ12,1 = 982

Block 2: ϕ1,1 ϕ10,1 ϕ11,1 ϕ12,0

12 = χ1,1 1 . . .
662 = χ11,1 . 1 . .
991 = χ12,0 1 . . 1
1442 = χ14,1 . 1 1 .
1761 = χ15,0 . . 1 1

ϕ1,1 = 12
ϕ10,1 = 662
ϕ11,1 = 782
ϕ12,0 = 981

Block 3: ϕ2+ ϕ4+

221 = χ2+ 1 .
321 = χ4+ . 1
541 = χ7,0 1 1
542 = χ7,1 1 1

ϕ2+ = 221
ϕ4+ = 321



Block 15: ϕ16,0 ϕ16,1 ϕ17,0 ϕ17,1

121 = χ18,0 1 . . .
122 = χ18,1 . 1 . .
322 = χ19,0 . . 1 .
323 = χ19,1 . . . 1
881 = χ20+ 1 1 1 1

ϕ16,0 = 121
ϕ16,1 = 122
ϕ17,0 = 322
ϕ17,1 = 323


